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1. iou dh viokgu fØ;k ls fufeZr LFky :i

gS %

(A) ckyqdk Lrwi

(B) okr xrZ

(C) yks;l

(D) isfMesUV

2. ;w&vkdkj dh ?kkVh curh gS %

(A) pwuk {ks= esa

(B) ck<+ {ks= esa

(C) fgekuh {ks= esa

(D) jsfxLrkuh {ks= esa

3. fuEufyf[kr esa ls dkSu&lh >hy fgekuh }kjk fufeZr

ugha gS \

(A) xszV >hy

(B) xzk.M >hy

(C) oqyj >hy

(D) uSuk >hy

4. fgetxg~oj ;k ldZ fufeZr gS %

(A) lfjrk }kjk

(B) iou }kjk

(C) fgeun }kjk

(D) Hkwfexr ty }kjk

5. fuEufyf[kr esa ls fdl LFkykÑfr dk fuekZ.k fgekuh

vijnu }kjk ugha gksrk gS \

(A) yVdrh ?kkVh

(B) fxfjJ`ax

(C) VkuZ

(D) Mªefyu

1. The landforms built by deflation work of wind

is :

(A) Sand dune

(B) Deflation Basin

(C) Loess

(D) Pediments

2. U-shaped valley is formed in :

(A) Karst Region

(B) Flood Region

(C) Glacial Region

(D) Desert Region

3. Which of the following lakes is not formed by

Glacier ?

(A) Great lake

(B) Grand lake

(C) Wular lake

(D) Naina lake

4. Cirques is formed by :

(A) River

(B) Wind

(C) Glacier

(D) Underground water

5. Which of the following landforms is not formed

by Glacial erosion ?

(A) Hanging valley

(B) Horn

(C) Tarn

(D) Drumlin

[P.T.O.]
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6. Air pressure is represented on map by :

(A) Isotherm lines

(B) Isobar lines

(C) Isolines

(D) None of these

7. What will be air pressure if temperature is high ?

(A) Low

(B) High

(C) Moderate

(D) Very high

8. The Tornadoes are very strong tropical cyclones

originating in :

(A) Caribbean Sea

(B) China Sea

(C) Arabian Sea

(D) Black Sea

9. Air pressure is lowest in :

(A) Winter season

(B) Spring season

(C) Autumn season

(D) Summer season

10. Horse latitude is extending between :

(A) 5
o
-10

o

(B) 25
o
-30

o

(C) 60
o
-65

o

(D) None of these

6. ekufp= ij ok;qnkc fn[kk;k tkrk gS %

(A) lerki js[kkvksa }kjk

(B) leok;qnkc js[kkvksa }kjk

(C) ley{k.k js[kkvksa }kjk

(D) buesa ls dksbZ ugha

7. ;fn rkieku vf/kd gS] rks ok;qnkc D;k gksxk \

(A) de

(B) mPp

(C) e/;e

(D) vfr mPp

8. VksjuSMks cgqr 'kfDr'kkyh m".kdfVcU/kh; pØokr

gS] ftldh mRifÙk gksrh gS %

(A) dSjsfc;u lkxj esa

(B) phu lkxj esa

(C) vjc lkxj esa

(D) dkyk lkxj esa

9. ok;qnkc lcls de gksrk gS %

(A) 'khr _rq esa

(B) clar _rq esa

(C) 'kjn _rq esa

(D) xzh"e _rq esa

10. v'o v{kka'k dk foLrkj gksrk gS %

(A) 5
o
-10

o 
v{kka'k ds e/;

(B) 25
o
-30

o 
v{kka'k ds e/;

(C) 60
o
-65

o 
v{kka'k ds e/;

(D) buesa ls dksbZ ugha
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11. Hkkjr esa iz/kkur% lokZf/kd o"kkZ gksrh gS %

(A) mRrjh&iwohZ ekulwu ls

(B) ykSVrh ekulwu ls

(C) nf{k.kh&if'peh ekulwu ls

(D) laoguh; tyo"kkZ ls

12. fuEufyf[kr LFkkuksa esa ls dkSu lcls de o"kkZ izkIr

djrk gS \

(A) ysg

(B) chdkusj

(C) tSlyesj

(D) ckM+esj

13. egk}hih; eXu<ky ij ty dh vkSlr xgjkbZ gksrh

gS %

(A) 200 eh- ls 2000 eh- ds e/;

(B) 0 eh- ls 200 eh- ds e/;

(C) 2000 eh- ls 6000 eh- ds e/;

(D) 6000 eh- ls 10000 eh- ds e/;

14. fuEufyf[kr egklkxjh; xrksZa essa ls dkSu fo'o dk

lcls xgjk xrZ gS \

(A) Vksaxk

(B) Lok;j

(C) iksVkZs fjdks

(D) pSysatj

15. lkxjh; ty dh yo.krk dk lh/kk@ldkjkRed

lEcU/k gksrk gS %

(A) rkieku ls

(B) lkxjh; ?kuRo ls

(C) lkxjh; ncko ls

(D) buesa ls dksbZ ugha

11. India gets maximum rainfall mainly from :

(A) North-East Monsoon

(B) Retreating Monsoon

(C) South-West Monsoon

(D) Convectional Rainfall

12. Among the following places which one gets the

least rainfall ?

(A) Leh

(B) Bikaner

(C) Jaisalmer

(D) Barmer

13. The average depth of water over continental

slope varies between :

(A) 200 m. to 2000 m.

(B) 0 m. to 200 m.

(C) 2000 m. to 6000 m.

(D) 6000 m. to 10000 m.

14. Which of the following trenches is deepest in

the world ?

(A) Tonga

(B) Swire

(C) Puerto Rico

(D) Challenger

15. The salinity of sea water is directly/positively

related to :

(A) Temperature

(B) Sea water density

(C) Sea water pressure

(D) None of these
[P.T.O.]
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16. feflflIih MsYVk ,d vPNk mnkgj.k gS %

(A) i{kh&iatk MsYVk dk

(B) ifjR;Dr MsYVk dk

(C) vojksf/kr MsYVk dk

(D) Tokjuneq[kh MsYVk dk

17. fuEufyf[kr esa ls dkSu ,d foliZ ugha gS \

(A) lkekU; foliZ

(B) vkn'kZ foliZ

(C) csesy foliZ

(D) v/k%dfrZr foliZ

18. bUlsycxZ cuus dk izeq[k dkj.k gS %

(A) iou }kjk vijnu

(B) iou }kjk fu{ksi.k

(C) iou }kjk ifjogu

(D) buesa ls dksbZ ugha

19. fuEufyf[kr LFky :iksa esa ls dkSu&lk iou }kjk

fufeZr ugha fd;k tkrk gS \

(A) T;wtsu

(B) ;kjMkax

(C) ckyqdk Lrwi

(D) chp

20. yks;l LFky :i dk fodkl gksrk gS %

(A) iou fu{ksi.k }kjk

(B) iou vijnu }kjk

(C) lfjrk vijnu }kjk

(D) fgekuh fu{ksi.k }kjk

16. Mississippi delta is a best example of :

(A) Bird-foot Delta

(B) Abandoned Delta

(C) Blocked Delta

(D) Estuarine Delta

17. Which of the following is not a Meander ?

(A) Simple Meander

(B) Ideal Meander

(C) Misfit Meander

(D) Incised Meander

18. The formation of Inselberg is due to :

(A) Erosion by Wind

(B) Deposition by Wind

(C) Transportation by Wind

(D) None of these

19. Which of the following landforms is not formed

by wind ?

(A) Zeugen

(B) Yardang

(C) Sand dunes

(D) Beaches

20. Loess is a landform developed by :

(A) Wind deposition

(B) Wind erosion

(C) River erosion

(D) Glacier deposition
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21. tkiku esa m".kdfVcU/kh; pØokr dks dgk tkrk gS %

(A) VkbQw

(B) cSxqbvks

(C) VksjuSMks

(D) gfjdsu

22. phu esa m".kdfVcU/kh; pØokr dks LFkkuh; Lrj ij

dgk tkrk gS %

(A) c<+rk rwQku

(B) gfjdsu

(C) VksjuSMks

(D) VkbQwu

23. lh-ch-Mh- vFkok uxj ds dsUnz esa fLFkr mPprj

rkieku dks dgk tkrk gS %

(A) xeZ }hi

(B) 'khr }hi

(C) m".k }hi

(D) fge }hi

24. i{kkHk ckny ik;k tkrk gS %

(A) 0-2500 eh- Å¡pkbZ ds e/;

(B) 2500-6000 eh- Å¡pkbZ ds e/;

(C) 6000-20000 eh- Å¡pkbZ ds e/;

(D) 20000 eh- ls vf/kd Å¡pkbZ ij

25. fuEufyf[kr esa ls dkSu ,d o"kkZ dk izdkj ugha

gS \

(A) laoguh; tyo"kkZ

(B) ioZrh; tyo"kkZ

(C) pØokrh; tyo"kkZ

(D) egk}hih; tyo"kkZ

21. Tropical cyclones in Japan are called :

(A) Taifu

(B) Baguio

(C) Tornado

(D) Hurricane

22. Tropical cyclones in China are locally

called :

(A) Storm surge

(B) Hurricane

(C) Tornado

(D) Typhoon

23. The higher temperature in the CBD or city center

is called :

(A) Warm Island

(B) Cold Island

(C) Heat Island

(D) Snow Island

24. Cirrus clouds are found :

(A) Between 0-2500 m. height

(B) Between 2500-6000 m. height

(C) Between 6000-20000 m. height

(D) Above 20000 m. height

25. Which one of the following is not a type of

rainfall ?

(A) Convectional Rainfall

(B) Orographic Rainfall

(C) Cyclonic Rainfall

(D) Continental Rainfall
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26. Where is Great Salt Lake located ?

(A) U.S.A.

(B) India

(C) China

(D) Turkey

27. Which of the following is a cold current of the

South Atlantic Ocean ?

(A) Canary current

(B) Kuroshio current

(C) Benguela current

(D) Gulfstream current

28. Sargasso Sea is located in :

(A) South Atlantic Ocean

(B) North Atlantic Ocean

(C) Mediterranean Sea

(D) Pacific Ocean

29. Which of the following is a warm current ?

(A) Falkland current

(B) Brazil current

(C) Labrador current

(D) Canary current

30. Progressive Wave Theory is propounded by :

(A) Laplace

(B) R.A. Harris

(C) William Whewell

(D) G.B. Airy

26. xzsV lkYV >hy dgk¡ vofLFkr gS \

(A) la;qDr jkT; vesfjdk

(B) Hkkjr

(C) phu

(D) rqdhZ

27. fuEufyf[kr esa ls dkSu ,d nf{k.kh vU/kegklkxj

dh B.Mh ty/kkjk gS \

(A) dukjh /kkjk

(B) D;wjksf'k;ks /kkjk

(C) csaxq,yk /kkjk

(D) xYQLVªhe /kkjk

28. lkjxSlks lkxj vofLFkr gS %

(A) nf{k.kh vU/kegklkxj esa

(B) mÙkjh vU/kegklkxj esa

(C) Hkwe/;lkxj esa

(D) iz'kkUr egklkxj esa

29. fuEufyf[kr eas ls dkSu ,d xeZ ty/kkjk gS \

(A) QkdyS.M /kkjk

(B) czkthy /kkjk

(C) ySczkMksj /kkjk

(D) dukjh /kkjk

30. izxkeh rjax fl)kUr dk izfriknu fd;k x;k Fkk %

(A) ykIykl }kjk

(B) vkj-,- gSfjl }kjk

(C) fofy;e Oghosy }kjk

(D) th-ch- ,;jh }kjk
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31. The height of the ozone layer above the surface

of the earth is :

(A) 15-35 km.

(B) 40-50 km.

(C) 5-10 km.

(D) 50-60 km.

32. Wireless communication is reflected to the

earth's surface by :

(A) Troposphere

(B) Stratosphere

(C) Ionosphere

(D) Exosphere

33. The distance from the earth to sun is :

(A) About 93 million miles

(B) About 100 million miles

(C) About 150 million miles

(D) About 50 million miles

34. Which one of the following reflects more sunlight

as compared to the three ?

(A) Sand desert

(B) Paddy cropland

(C) Land covered with fresh snow

(D) Prairie land

35. Energy comes on earth is called :

(A) Solar Radiation

(B) Insolation

(C) Terrestrial Radiation

(D) None of these

31. i`Foh dh lrg ls vkstksu ijr dh Å¡pkbZ

gS %

(A) 15-35 fdeh-

(B) 40-50 fdeh-

(C) 5-10 fdeh-

(D) 50-60 fdeh-

32. csrkj lapkj dk ijkorZu iF̀oh dh lrg ij gksrk

gS %

(A) {kksHke.My }kjk

(B) lerkie.My }kjk

(C) vk;ue.My }kjk

(D) cfgeZaMy }kjk

33. iF̀oh ls lw;Z dh nwjh gS %

(A) yxHkx 9.30 djksM+ ehy

(B) yxHkx 10 djksM+ ehy

(C) yxHkx 15 djksM+ ehy

(D) yxHkx 5 djksM+ ehy

34. fuEufyf[kr esa ls dkSu lw;Z dh fdj.kksa dk ijkorZu

rhuksa dh rqyuk esa lcls vf/kd djrk gS \

(A) ckyw e#LFky

(B) /kku Qly dh Hkwfe

(C) rkts cQZ ls vkPNkfnr Hkwfe

(D) izs;jh Hkwfe

35. iF̀oh ij vkus okyh ÅtkZ dgykrh gS %

(A) lkSj fofdj.k

(B) lw;kZfHkrki

(C) ikfFkZo fofdj.k

(D) buesa ls dksbZ ugha

[P.T.O.]
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36. Harmattan is a local wind of :

(A) Northern India

(B) Switzerland

(C) Eastern Sahara

(D) Alps Mountain

37. Name the wind which changes its

direction according to the season :

(A) Monsoon

(B) Chinook

(C) Loo

(D) Mistral

38. The circulation of Jet stream is :

(A) From East to West

(B) From North to South

(C) From West to East

(D) From South to North

39. Which one of the following streams is not a type

of Jet stream ?

(A) Polar front Jet stream

(B) Subtropical westerly Jet stream

(C) Tropical easterly Jet stream

(D) Temperate northerly Jet stream

40. Which of the following air masses is not a

principal type according to their location ?

(A) Continental polar air mass

(B) Equatorial air mass

(C) Maritime polar air mass

(D) Continental tropical air mass

36. gjeêu ,d LFkkuh; iou gS %

(A) mÙkjh Hkkjr dk

(B) fLoV~tjyS.M dk

(C) iwohZ lgkjk dk

(D) vkYIl ioZr dk

37. ml iou dk uke crkb, tks ekSle ds vuqlkj

viuh fn'kk cny nsrh gS %

(A) ekulwu

(B) fpuwd

(C) yw

(D) feLVªky

38. tsV LVªhe dk izokg gksrk gS %

(A) iwoZ ls if'pe dh vksj

(B) mÙkj ls nf{k.k dh vksj

(C) if'pe ls iwoZ dh vksj

(D) nf{k.k ls mÙkj dh vksj

39. fuEufyf[kr esa ls dkSu ,d tsV LVªhe dk izdkj

ugha gS \

(A) /kqzoh; okrkxz tsV LVªhe

(B) miks".kdfVcU/kh; iNqok tsV LVªhe

(C) m".kdfVcU/kh; iwohZ tsV LVªhe

(D) 'khrks".k mÙkjh tsV LVªhe

40. fuEufyf[kr ok;q jkf'k;ksa esa ls dkSu vofLFkfr ds

vuqlkj ok;q jkf'k dk izeq[k izdkj ugha gS \

(A) egk}hih; /kqzoh; ok;q jkf'k

(B) fo"kqorjs[kh; ok;q jkf'k

(C) lkxjh; /kqzoh; ok;q jkf'k

(D) egk}hih; m".kdfVcU/kh; ok;q jkf'k
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41. The Great Barrier Reef of corals is located in :

(A) Indian Ocean

(B) Pacific Ocean

(C) Atlantic Ocean

(D) Arctic Ocean

42. Which one of the following is not a Biotic

Component ?

(A) Plant

(B) Animal

(C) Soil

(D) Micro-organisms

43. A life supporting layer which surrounds the earth

and makes possibility of plants and animal life

is called :

(A) Biosphere

(B) Geosphere

(C) Atmosphere

(D) Hydrosphere

44. Ecology is a science which studies

interrelationships :

(A) Between Abiotic and Biotic components

(B) Among biotic components

(C) Both (A) and (B)

(D) None of the above

45. Which one of the following is not a tropical

biome ?

(A) Tropical Forest

(B) Savanna

(C) Desert

(D) Alpine Tundra

41. izokyfHkfÙk dk xzsV cSfj;j jhQ vofLFkr gS %

(A) fgUn egklkxj esa

(B) iz'kkUr egklkxj esa

(C) vU/kegklkxj esa

(D) vkdZfVd egklkxj esa

42. fuEufyf[kr esa ls dkSu ,d tSfod la?kVd ugha

gS \

(A) ikni

(B) tUrq

(C) eǹk

(D) lw{etho

43. ,d thou lgk;d ijr tks i`Foh ds pkjksa rjQ

f?kjh gS ftleas ikni ,oa tUrqvksa dh lEHkkouk gksrh

gS] mls dgk tkrk gS %

(A) tSoe.My

(B) Hkwe.My

(C) ok;qe.My

(D) tye.My

44. ikfjfLFkfrdh ,d foKku gS tks vUrlZEcU/kksa dk

v/;;u djrk gS %

(A) vtSfod ,oa tSfod ?kVdksa ds e/;

(B) tSfod ?kVdksa ds chp

(C) nksuksa (A) vkSj (B)

(D) mi;ZqDr esa ls dksbZ ugha

45. fuEufyf[kr esa ls dkSu ,d m".kdfVcU/kh; ck;kse

ugha gS \

(A) m".kdfVcU/kh; ou

(B) lokuk

(C) e#LFky

(D) vYikbu Vq.Mªk

[P.T.O.]
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46. fuEufyf[kr ijrksa esa ls dkSu&lh ok;qe.My dh

lcls Åijh ijr gS \

(A) {kksHke.My

(B) rkie.My

(C) e/;e.My

(D) lerkie.My

47. leLr ekSleh ?kVuk,¡ fuEufyf[kr ok;qe.My dh

fdl ijr esa ?kfVr gksrh gSa \

(A) e/;e.My

(B) {kksHke.My

(C) lerkie.My

(D) rkie.My

48. ok;qe.My esa fdl xSl dk izfr'kr vf/kdre

gS \

(A) dkcZu

(B) ukbVªkstu

(C) vkWDlhtu

(D) gkbMªkstu

49. ok; qe.My e s a  tyok "i dh e k= k gk s r h

gS %

(A) 1%

(B) 2%

(C) 1-5%

(D) 5-10%

50. vkstksu ijr ik;h tkrh gS %

(A) {kksHke.My esa

(B) e/;e.My esa

(C) vk;ue.My esa

(D) lerkie.My esa

46. Which of the following layers is the uppermost

atmospheric layer ?

(A) Toposphere

(B) Thermosphere

(C) Mesosphere

(D) Stratosphere

47. All the weather phenomena occurs in which of

the following atmospheric layer ?

(A) Mesosphere

(B) Toposphere

(C) Stratosphere

(D) Thermosphere

48. Which gas has a maximum percentage in the

atmosphere ?

(A) Carbon

(B) Nitrogen

(C) Oxygen

(D) Hydrogen

49. The quantity of water vapour in the atmosphere

is :

(A) 1%

(B) 2%

(C) 1-5%

(D) 5-10%

50. The ozone layer lies in :

(A) Troposphere

(B) Mesosphere

(C) Ionosphere

(D) Stratosphere
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51. Hkkjrh; /keZxzUFkksa ds vuqlkj i`Foh dh vk;q

gS %

(A) 2 djksM+ o"kZ

(B) 2 vjc o"kZ

(C) 20 yk[k o"kZ

(D) 0.2 yk[k o"kZ

52. IysVksa ds Øekxr fodkl] LoHkko ,oa izokg dh

lEiw.kZ ra= ,oa ifj.kkeh izfrfØ;k dks dgk tkrk

gS %

(A) IysV foorZfudh

(B) IysV lhek

(C) }kn'kQyd

(D) prqik'ohZ;

53. fuEufyf[kr esa ls lokZf/kd HkwdEi fdl {ks= esa vkrs

gSa \

(A) ifj&iz'kkUr egklkxjh; isVh

(B) Hkwe/;lkxjh; isVh

(C) vU/k egklkxjh; isVh

(D) fgUn egklkxjh; isVh

54. iF̀oh ds /kjkry ij fLFkr og fcUnq tgk¡ loZizFke

HkwdEi vuqHko fd;k tkrk gS] dgykrk gS %

(A) vf/kdsUnz

(B) vfHkdsUnz

(C) HkwdEi dsUnz

(D) buesa ls dksbZ ugha

55. Tokykeq[kh dh mRifÙk dk izeq[k dkj.k gS@gSa %

(A) HkwxHkZ esa rki of̀)

(B) ykok dh mRifÙk

(C) xSlksa dk QSyko

(D) mijksDr lHkh

51. The age of earth according to Indian Religious

Books is :

(A) 2 Crore years / 200 Million

(B) 2 Billion / 2000 Million years

(C) 2 Million years

(D) 0.2 Million years

52. The entire mechanism of the evolution, nature

and motion of plates and resultant reactions is

called :

(A) Plate Tectonics

(B) Plate Boundary

(C) Dodecahedron

(D) Tetrahedron

53. In which of the following areas most of the

earthquakes come ?

(A) Circum-Pacific Ocean belt

(B) Mediterranean Sea belt

(C) Atlantic Ocean belt

(D) Indian Ocean belt

54. The place situated on the earth's surface, where

earthquake felt first is called :

(A) Epicentre

(B) Centripetal

(C) Earthquake Centre

(D) None of these

55. Chief cause of volcanic origin is/are :

(A) Temperature increasement in interior

(B) Origin of Lava

(C) Expansion of Gases

(D) All of the above

[P.T.O.]
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56. Which of the following is not a subject-matter of

Physical Geography ?

(A) Lithosphere/Geomorphology

(B) Atmosphere

(C) Hydrosphere

(D) Demosphere

57. In which era Dinosaurs were developed ?

(A) Palaeozoic

(B) Mesozoic

(C) Cenozoic

(D) Cryptozoic

58. Which of the following planets is known as

'Morning Star' ?

(A) Mercury

(B) Venus

(C) Mars

(D) Saturn

59. Which is the chief heavenly body of solar

system ?

(A) Earth

(B) Sun

(C) Vesta

(D) Trumpler

60. In order of their distance from the sun, which of the

following planets lie between Mars and Neptune ?

(A) Earth

(B) Mercury

(C) Saturn

(D) Venus

56. fuEu esa ls dkSu&lk HkkSfrd Hkwxksy dk fo"k;{ks= ugha

gS \

(A) LFkye.My

(B) ok;qe.My

(C) tye.My

(D) tue.My

57. Mk;uklksj dk fodkl fdl dYi esa gqvk Fkk \

(A) isfy;kstksbd

(B) ehlkstksbd

(C) lhukstksbd

(D) fØIVkstksbd

58. fuEufyf[kr esa ls fdls ^Hkksj dk rkjk* dgk tkrk

gS \

(A) cq/k

(B) 'kqØ

(C) eaxy

(D) 'kfu

59. lkSj e.My dk iz/kku vkdk'kh; fi.M dkSu&lk

gS \

(A) iF̀oh

(B) lw;Z

(C) osLVk

(D) VªEiyj

60. lw;Z ls mudh nwjh ds Øe esa] fuEufyf[kr xzgksa esa

ls dkSu eaxy ,oa o#.k ds e/; fLFkr gS \

(A) iF̀oh

(B) cq/k

(C) 'kfu

(D) 'kqØ
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61. ekm.V vkcw ioZr {ks= ,d cgqr vPNk mnkgj.k gS %

(A) tkyhuqek viokg izfr:i dk

(B) iknikdkj viokg izfr:i dk

(C) vk;rkdkj viokg izfr:i dk

(D) vidsUnzh; viokg izfr:i dk

62. fuEufyf[kr esa ls fdl vkÑfr dk lEcU/k unh ds

dk;ksZa ls ugha gS \

(A) tyizikr

(B) cj[kku

(C) xks[kqj >hy

(D) ^oh* vkdkj dh ?kkVh

63. unh dh o`)koLFkk esa cuus okyk LFky :i dgykrk

gS %

(A) MsYVk

(B) xktZ

(C) dSfu;u

(D) tyizikr

64. fo'o izfl) dSfu;u dk fuekZ.k gqvk gS %

(A) uhy unh }kjk

(B) vestu unh }kjk

(C) flU/kq unh }kjk

(D) dksyksjSMks unh }kjk

65. nw/klkxj tyizikr vofLFkr gS %

(A) rfeyukMq esa

(B) e/; izns'k esa

(C) jktLFkku esa

(D) xksok esa

61. Mount Abu region is a best example of :

(A) Trellised Drainage pattern

(B) Dendritic Drainage pattern

(C) Rectangular Drainage pattern

(D) Radial Drainage pattern

62. Which of the following landforms is not related

to the works of river ?

(A) Waterfall

(B) Barkhan

(C) Oxbow lake

(D) V-shaped valley

63. Landform formed in the old age of river is

called :

(A) Delta

(B) Gorge

(C) Canyons

(D) Waterfall

64. The world famous canyon is formed by :

(A) Nile River

(B) Amazon River

(C) Indus River

(D) Colorado River

65. Dudhsagar waterfall is located in :

(A) Tamil Nadu

(B) Madhya Pradesh

(C) Rajasthan

(D) Goa

[P.T.O.]
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66. fuEufyf[kr esa ls dkSu&lh HkwlUufr dh fo'ks"krk

ugha gS \

(A) izcy laihMu cy }kjk fufeZr

(B) yEck] ladjk rFkk mFkyk tyh; /k¡lko

(C) fujUrj ryNVh; teko ,oa /k¡lko

(D) ty dk py {ks=

67. fuEufyf[kr esa ls dkSu ,d ioZrh; lapyu esa

lfEefyr ugha gS \

(A) oyu

(B) Hkaz'ku

(C) laoyu

(D) voryu

68. pêkuksa ds laLrjksa ds esgjko ln`'; Åij mBs gq,

LFky :i dks dgrs gSa %

(A) oyu

(B) viufr

(C) vfHkufr

(D) ufr@ueu

69. fuEufyf[kr esa ls fdldh ,d Hkza'k ?kkVh ifj.kkeh

gS \

(A) Hkza'k

(B) oyu

(C) laoyu

(D) xzhok[k.M

70. oyu dk fodkl gksrk gS %

(A) QSyko ls

(B) ruko ls

(C) ladqpu ls

(D) vijnu ls

66. Which of the following is not a characteristic of

Geosynclines ?

(A) Formed by strong compressive forces

(B) Long, narrow and shallow depressions of water

(C) Gradual sedimentation and subsidence

(D) Mobile zones of water

67. Which of the following is not included in

orogenetic movements ?

(A) Folding

(B) Faulting

(C) Wraping

(D) Subsiding

68. The upfolded rock strata in arch-like landform is

called :

(A) Folding

(B) Anticline

(C) Syncline

(D) Dip

69. Which of the following is a resultant of Rift

Valley ?

(A) Faulting

(B) Folding

(C) Wraping

(D) Nappe

70. Folds are developed by :

(A) Expansion

(B) Tension

(C) Contraction

(D) Erosion
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71. ^lqijuksok* gS %

(A) ,d NksVk rkjk

(B) ,d dkyk fNnz

(C) ,d /kwedsrq

(D) ,d ejus okyk rkjk

72. fuEu esa ls fdls i`Foh dh lcls ?kuh ijr ds :i

esa tkuk tkrk gS \

(A) ØLV

(B) esaVy

(C) dksj

(D) eSXek

73. iF̀oh viuh /kqjh ij ,d pDdj iwjk djrh gS %

(A) 24 ?k.Vs esa

(B) 25 ?k.Vs esa

(C) 23 ?k.Vs 58 feuV esa

(D) 23 ?k.Vs 56 feuV ,oa 4 lsd.M esa

74. iF̀oh dh vkUrfjd ijr ds fuekZ.k esa fdu rRoksa dh

iz/kkurk gS \

(A) flfydk ,oa ,Y;qfefu;e

(B) fufdy ,oa yksgk

(C) flfydk ,oa eSXuhf'k;e

(D) cslkYV ,oa flfydk

75. iF̀oh dh e/; ijr ¼lhek½ dk ?kuRo gS %

(A) 2.4 ls 2.9

(B) 2.9 ls 4.7

(C) 10

(D) 11.6

71. 'Supernova is :

(A) An Asteroid

(B) A Black Hole

(C) A Comet

(D) A Dying Star

72. Which of the following is known as most dense

layer of the earth ?

(A) Crust

(B) Mantle

(C) Core

(D) Magma

73. The earth completes one rotation on its axis :

(A) In 24 hours

(B) In 25 hours

(C) In 23 hours 58 minutes

(D) In 23 hours 56 minutes and 4 seconds

74. Which elements are abundant in the formation

of interior layer of the earth ?

(A) Silica and Aluminium

(B) Nickel and Iron (Fe)

(C) Silica and Magnesium

(D) Basalt and Silica

75. The density of middle layer (Sima) of the earth is :

(A) 2.4 to 2.9

(B) 2.9 to 4.7

(C) 10

(D) 11.6

[P.T.O.]
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76. fuEufyf[kr esa ls dkSu&lk ;kfU=d vi{k; dk

vfHkdrkZ ugha gS \

(A) rq"kkj

(B) rki

(C) ouLifr

(D) vknzZrk ,oa ty

77. jklk;fud vi{k; vfHkdrkZ gS@gSa %

(A) vkWDlhtu

(B) dkcZu MkbvkWDlkbM

(C) gkbMªkstu

(D) mi;qZDr lHkh

78. vkWDlhMs'ku dk lokZf/kd izHkko gksrk gS %

(A) ykSg [kfutksa ij

(B) xzzsukbV pêkuksa ij

(C) pwuk iRFkj ij

(D) ewy vkXus; pêkuksa ij

79. vijnu pØ dh ladYiuk dk izfriknu fdlus

fd;k \

(A) tsEl gV~Vu

(B) fxycVZ

(C) MCY;w-,e- Msfol

(D) MCY;w- isUd

80. fdlus dgk Fkk fd] ^,d LFkykÑfr lajpuk] izØe

,oa voLFkk dk izfrQy gS* \

(A) MCY;w-,e- Msfol

(B) MCY;w- isUd

(C) vkj-ts- pksysZ

(D) buesa ls dksbZ ugha

76. Which of the following is not related to

mechanical weathering agents ?

(A) Frost

(B) Insolation

(C) Vegetation

(D) Moisture and Water

77. Chemical weathering agents is/are :

(A) Oxygen

(B) Carbon dioxide

(C) Hydrogen

(D) All of the above

78. Maximum effect of oxidation is :

(A) On Iron Minerals

(B) On Granite Rocks

(C) On Limestone

(D) On Basic Igneous Rocks

79. Who propounded the concept of cycle of

erosion ?

(A) James Hutton

(B) Gilbert

(C) W.M. Davis

(D) W. Penck

80. Who said that, 'A landscape is the result of

structure, process and stage' ?

(A) W.M. Davis

(B) W. Penck

(C) R.J. Chorley

(D) None of these
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81. mn~xkj dh vof/k ds vk/kkj ij fuEufyf[kr esa ls

dkSu Tokykeq[kh dk izdkj ugha gS \

(A) tkx`r Tokykeq[kh

(B) LVªkEcksfy;u Tokykeq[kh

(C) izlqIr Tokykeq[kh

(D) 'kkUr Tokykeq[kh

82. fuEufyf[kr esa ls dkSu ,d izlqIr Tokykeq[kh

gS \

(A) dksg lqYrku

(B) fiukVqcks

(C) folqfo;l

(D) ek;ksu

83. Tokykeq[kh }kjk fufeZr LFkykÑfr gS %

(A) ØsVj

(B) xktZ

(C) dSfu;u

(D) bUlsycxZ

84. fuEufyf[kr esa ls dkSu&lh pêku izkFkfed pêku

dgh tkrh gS \

(A) volknh pêku

(B) dk;kUrfjr pêku

(C) {kSfrt pêku

(D) vkXus; pêku

85. izk;}hih; Hkkjr esa] pêkusa ik;h tkrh gSa %

(A) vkXus; pêku

(B) volknh pêku

(C) :ikUrfjr pêku

(D) laxejej pêku

81. Which of the following is not a type of volcano

on the basis of periodicity of eruptions ?

(A) Active volcanoes

(B) Strombolian volcanoes

(C) Dormant volcanoes

(D) Extinct volcanoes

82. Which one of the following is a dormant

volcano ?

(A) Koh Sultan

(B) Pinatubo

(C) Visuvious

(D) Mayon

83. Topography produced by vulcanicity is :

(A) Craters

(B) Gorges

(C) Canyons

(D) Inselbergs

84. Which of the following rocks is called primary

rocks ?

(A) Sedimentary rocks

(B) Metamorphic rocks

(C) Horizontal rocks

(D) Igneous rocks

85. In Peninsular India, the rocks found are :

(A) Igneous rocks

(B) Sedimentary rocks

(C) Metamorphic rocks

(D) Marble rocks
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86. ^egk}hih; L[kyu fl)kUr* dk izfriknu fdlus

fd;k \

(A) vkj-,- Msyh

(B) ts-MCY;w- xzsxjh

(C) vYÝsM osxuj

(D) vkFkZj gksEl

87. fuEu esa ls dkSu&lk fl)kUr vkFkZj gksEl us

fn;k \

(A) egk}hih; izokg dk fl)kUr

(B) laogu /kkjk dk fl)kUr

(C) egk}hih; L[kyu dk fl)kUr

(D) rkih; ladqpu dk fl)kUr

88. fuEufyf[kr esa ls fdlus loZizFke IysV 'kCn dk

iz;ksx fd;k \

(A) Vwtks foYlu

(B) ekWxZu

(C) vYÝsM osxuj

(D) yksfFk;u xzhu

89. ts-,p- izkV lEcfU/kr Fks %

(A) baXyS.M ls

(B) Ýkal ls

(C) Hkkjr ls

(D) teZuh ls

90. HkwdEiekih ;a= dgykrk gS %

(A) DykbeksxzkQ

(B) lhT+eksxzkQ

(C) ghnjxzkQ

(D) bZMksxzkQ

86. Who was the propounder of 'Sliding Continents

Theory' ?

(A) R.A. Daly

(B) J.W. Gregory

(C) Alfred Wegener

(D) Arthur Holmes

87. Which of the following theories is given by Arthur

Holmes ?

(A) Continental Drift Theory

(B) Convection Current Theory

(C) Sliding Continents Theory

(D) Thermal Contraction Theory

88. Who among the following used the term Plate

for the first time ?

(A) Tuzo Wilson

(B) Morgan

(C) Alfred Wegener

(D) Lowthian Green

89. J.H. Pratt was related to :

(A) England

(B) France

(C) India

(D) Germany

90. The instrument measuring earthquake is called :

(A) Climograph

(B) Seismograph

(C) Hythergraph

(D) Eidograph
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91. fuEufyf[kr esa ls dkSu ,d volknh pêku ugha

gS \

(A) LysV

(B) ckyqdk iRFkj

(C) pwuk iRFkj

(D) dkaXyksejsV

92. fuEufyf[kr esa ls dkSu dk;kUrfjr pêku gS \

(A) cslkYV

(B) xzsukbV

(C) uhl

(D) fM;ksjkbV

93. ghjs dh ewy pêku gS %

(A) ckyqdk iRFkj

(B) xzsukbV

(C) dks;yk

(D) pwuk iRFkj

94. volknh 'kSyksa esa nks yxkrkj ijrksa ds e/; la;kstd

Hkkx dks dgrs gSa %

(A) le:ifoU;kl

(B) laLrj.k ry

(C) ØkWl csfMax ¼foijhr laLrj½

(D) lefoU;kl

95. fuEufyf[kr esa ls dkSu ,d vkXus; pêku ugha gS \

(A) cslkYV

(B) xSczks

(C) uhl

(D) MksysjkbV

91. Which one of the following is not a sedimentary

rock ?

(A) Slate

(B) Sandstones

(C) Limestones

(D) Conglomerate

92. Which one of the following is a metamorphic rock ?

(A) Basalt

(B) Granites

(C) Gneiss

(D) Diorite

93. Original rock of diamond is :

(A) Sandstone

(B) Granites

(C) Coal

(D) Limestone

94. The connecting plane between two consecutive

beds or layers of sedimentary rocks is called :

(A) Paraconformity

(B) Bedding plane

(C) Cross bedding

(D) Conformity

95. Which one of the following is not a Igneous rock ?

(A) Basalt

(B) Gabbro

(C) Gneiss

(D) Dolerite

[P.T.O.]
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96. vijnu pØ dh fdl voLFkk esa yEcor~ vijnu

dh fØ;k ugha gksrh gS \

(A) o)̀koLFkk

(B) izkS<+koLFkk

(C) ;qokoLFkk

(D) ckY;koLFkk

97. MCY;w-,e- Msfol }kjk izfrikfnr vijnu pØ esa

fdruh voLFkk,¡ gksrh gSa \

(A) ,d

(B) nks

(C) rhu

(D) pkj

98. fuEu esa ls dkSu ,d ØeorhZ viokg ra= ugha

gS \

(A) ijorhZ lfjrk

(B) iwoZorhZ lfjrk

(C) izfrvuqorhZ lfjrk

(D) uokuqorhZ lfjrk

99. lfjrkvksa dh mRifÙk ,oa muds le; ds lkFk fodkl

dks dgk tkrk gS %

(A) viokg izfr:i

(B) iknikdkj viokg izfr:i

(C) ijuqek viokg izfr:i

(D) viokg ra=

100. fuEufyf[kr esa ls dkSu&lh unh ,d iwoZorhZ lfjrk

dk mnkgj.k ugha gS \

(A) lryt unh

(B) xaxk unh

(C) vklu unh

(D) x.Md unh

96. In which stage of cycle of erosion, vertical

erosion does not take place ?

(A) Old age

(B) Mature age

(C) Youth age

(D) Child age

97. How many stages are there in the cycle of

erosion as propounded by W.M. Davis ?

(A) One

(B) Two

(C) Three

(D) Four

98. Which of the following is not a sequent drainage

system ?

(A) Subsequent streams

(B) Antecedent streams

(C) Obsequent streams

(D) Resequent streams

99. The origin and development of streams through

time is called :

(A) Drainage Pattern

(B) Dendritic Drainage Pattern

(C) Pinnate Drainage Pattern

(D) Drainage System

100. Which of the following rivers is not an example

of antecedent streams ?

(A) Sutlej river

(B) Ganga river

(C) Asan river

(D) Gandak river
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